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In the previous video, we focused on solving a single-degree-of-freedom system with a mass of 'm' and
stiffness of 'k' without damping. We provided an example and explored how altering the values and
parameters could impact the results and initial conditions.

In this video, we will go through one example showing that the system starts to vibrate without applying
external load or damping.
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https://youtu.be/8klCXGvcgMQ

L == =~ - /_‘_(3
k?f k A) — F T 36\[
+ .
E‘ M-ACE) K. ./:._ 3 ez
) § B
"3

~M - alt) kuU):MJ

2
<

’L;\('FJ -i-@ LAC‘!") = 3.

Act) « wz-‘*h‘hg w3

\<

wat) = A C.eS“-’-L"’ BS-,',‘ wt+ M(f):_A.wa«wT-\- B <ywt
:</w\

- —~——
gex\e‘m/( Sel e S
“w . m P
..— %’_p °o - A+ J(/< - = Mj{(
OL'::‘
9z o« Baw —» B=-
ut e =" aswt ™I o\ Gty T (L oewt)
e I 1<
|

& Shah fi




JiH @

E = Lee & Pa \\\
= ~ ~—
S’ D) m= tten HEAL.. . =36 .9 x 16 s ! S e
[ (deas.) ; ~<F
e__?_m > L:ZVV\
G 4
K= 3el _ 22X 200 CPLax 36 (2lxlc mm _ j_?—(t‘ N(MM
L2 3
(lm)
M= .. “g - wr = l</ = 2369 (fN/
WA = = X ™ . 516 Y':_:i
l-..(¢a
T= ?_',I——L- — o-l2 Sec
w
3(; ¥ 3 Kz

(cen % -F1 r2y .
Lty I (L_c.swt)_— ST (-t ‘t) -
I<

2369 x{o3 Nv/m

u...(_-f): O-OQ?-S_-(_[/Q.&W{/) = 3.S_Mw <l-— C'C-S“Uﬁ)
[ —_—

-1

C/‘M = 3~.§m([-{-\): ?www

Usf: ._i
3

(e 9 -5 Wry
= b_——\s il -3”5-
3 =
236U x (. r

o~

“A yuq

& Shah.fi






